Big Exam #2, Physics 141 Schwartz, F2015, Name

1) A spring loaded gun is cocked by N\
compressing a spring of k = 10° N/m.
and then releasing it behind a 2 g bullet, N\

sending the bullet off at 70 m/s! The S  KE
bullet strikes a 0.2 kg ballistics \
pendulum and swings upward. Presume .

the spring is massless and there is no ' 1
ST

friction in the system. Please find:

a) How far the spring was -I U
compressed.

b) the height the pendulum swings. —y =
¢) The maximum acceleration of the bullet in the gun. PB = PB +p

* Yeot (laTs)
In this process, please be mindful that you will be graded on your communication to me of your l ‘
understanding of the physics in involved: \/
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